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Name:

L)ﬂhat is the equation for this chart? Remember yesterday! [l: ul ) Mr. Irish has at least 5 different games to play, How
da you write that inequality:

a) G»5
b) G<5
c) G5
d) G225
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J Plot the points on 2 coordinate grid:
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E-H'}hat is the equation for this chart? Remember yesterday!
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— ) Me. Kullman is increasing the amount of maney he puts in his

e
,,illug in values for x and solve for y! bank account every day
a) Write an expression that can be used to find how many

ol

Y=20+5
dallars he will save in D days
b How much will Mr, Kullman have in his bank account in 40
days?
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E @ Days!

Draw two different Which is greater? Circle the slope! ] Combine like terms:
pictures of 3 Use <, >, or = Underline the y intercept! |
In+n=
1 _7 s '-:x +7
What two numbers have Solve: Use the distributive property: | What are the coordinates
asum of 9 and a product of the following points?
of 187 2%-3=15 T
Hx+5)=_____ LT
mi/
EE ?,'I r 5
INN 4.{15 -
al |
! NEER
A= B=
Paositive or negative Salve for Graph on the number line: Solve for x
slope? X2 -2 |
5 e 13-x=5
T 2 1o
/'2 et b o
i 34324001 2349
EEEE 4
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Evaluate: when x =3 Solve Place on the number line; How can you make
3
e Teds i Seven even:
5-4= T T T T
4 = E4da1 011843
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What do you see?
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Sl

1 2 3 a 5 6 7 8 g 10
E 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30
31 a2 33 34 35 36 37 |as 39 40
41 42 43 44 45 46 47 48 49 50
51 52 53 54 55 56 57 |58 59 60
61 62 63 64 65 66 &7 |68 69 70
71 72 73 74 75 76 I 79 80
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equation to identify the slope or a value.
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‘E @ Days!

Objective: SWBAT use the pattern of a table to find the equation in Y-intercept form and use that

—n._'-l"'r._-_...—

2.) The cost of carriage rides In the French Quarter are given In haif miles, shown in the

table belows
Homber of half miles | Lo
i al0
0 8050
i3 HZ.00 |
B | S350 ]

How much is it fer just & 1 mlle trip on the carriage?
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1) Write an expression o equation for the following linear equation with x and y values.
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R 315,10
52 | 520
K $15.30
| B $15.40
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Find the rule! (the equation J):
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€ @ Days!

FIND THE SLOPE OF EACH PAIR OF COORDINATES. REMEMBER CHANGE IN Y OVER CHANGE IN X!
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Name:

Exit Ticket
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¢ 3=, In the Cartesian plang, & line runs through poiots(l-5) asd
(5,100, Which of the following represems the slope of thal lins!
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#3, In the square graphed belew, what i the slope of lise
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Criteria for Success:
U Try every problem
U Show your work (MARK UP THE TABLES!!)
U Find the correct answer

N

Cigstalic blood pressare tends (o incroase lipearly wills
ape. Suppose thet the average disstolic blood pressure |
of 20-year-clds is 120 and the awraﬁr. disstolic biood |
pressure of 60-year-olds e 140. Given this model, |
what would be the average dlosolic blood pressure af

S0-yenr-clds?

120
123
130
i35
140

al=el o

C

1. I the standard (x, ¥) coandinate plaoe, whit is the slope

of the line joining the paints (3,7) and (4,—£)7
A, =15
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